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Class - IX
MATHEMATICS
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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A
Question numbers 1 to 10 carry 1 mark each.

Which of the following is an irrational number ?

(A) 23 (B) 225 (C) 0.3796

Which of the following is the value of (\/1_ -7 ) (\/ﬁ +7 )

(A) -4 (B) 4 (© Vi

The coefficient of x2 in (2—3x2) (x2—5) is
(A) -17 (B) -10 < -3

If two parallel lines are intersected by a transversal then pairs of alternate interior angles
are

(A) Equal (B) Complementary

(C) Supplementary (D) Sum of the two angles is 360°

A rational number between —3 and 3 is
(A) O (B) —4.3
() -34 (D) 1.101100110001....

The coordinate of origin is
(Aa) ©1) B) (1 0) © (0 (1 1)

If a polynomial p (x) is divided by x —a then remainder is

(A) f(0) B) f(@ © f(-9) (D) f@) —fO)

Two supplementary angles are in the ratio 4 : 5. The angles are
(A) 90° 90° (B) 80° 100° (C) 30° 150° (D) 45°, 45°

Write the name of the quadrant in which the point (-3, 5) lies.
(A) First quadrant (B) Second quadrant
(C) Third quadrant (D) Fourth quadrant

In figure 1, ZPOR=3x and ZQOR=2x+10. The value of x for which POQ is a straight
line, is
R

3x
. 2x+10

Q o P
Figure 1

(A) 34° (B) 24°

>
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SECTION - B

Question numbers 11 to 18 carry 2 marks each.

Find the zeros of the polynomial 3x?+x—2.

1
Rationalise the denominator ————.
J7 -6

Evaluate using suitable identity (999)3.

Factorise : 27x3+12y3.

In figure 2, OA, OB are opposite rays and ZAOC+ £ZBOD=90°. Find ZCOD.

C

Figure 2

OR

In figure 3, if array OC stands on line AB such that ZAOC= ZCOB, then show that
Z AOC=90°.

O
Figure 3
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In figure 4, find the values of x and v.

Figure 4

Prove that measure of each angle of an equilateral triangle is 60°.

In APQR, £ZP=110° and ZR=60°. Which side of the triangle is smallest. Give reasons for
your answer.

SECTION - C
Question numbers 19 to 28 carry 3 marks each.

Simplify the following by rationalising the denominators.

23 3\2
3 -V2  B+\2

OR

J3+42

m =a+bJ6 , find the values of a and b.

If

1
If x =+/13 + 2/3, then find the value of x — P

OR

1
Ifa=3- 2\/5, then find the value of a> — .
a

Represent /5.4 on the number line.
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Find the values of p and q if the polynomial x* + px3 + 2x? — 3x + q is divisible by the polynomial
x2—1.

OR

If the polynomial x>+ mx? + nx + 6 has x —2 as a factor and leaves remainder 3. When divided
by x —3 find the value of m and n.

In the figure 5, AABC is an equilateral triangle with coordinates of vertices B and C as
(—4, 0) and (4, 0) respectively. Find the coordinates of the point A.

Y
1

Figure 5

An isosceles triangle has perimeter 30 cm and each of the equal sides is 12 cm. Find the area
of the triangle.

In figure 6, QT 1 PR, ZTQR=60° and ZSPR=40°. Find the values of x and y.

Figure 6
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26. Infigure 7, £/B=45° £ C=55° and bisector of Z A meets BC at a point D. Find the value of
ZADB and ZADC.

A

45° 55¢
B D C
Figure 7

27. In figure 8, prove that p|jm.

Figure 8

If AABC is an isosceles triangle with AB=AC. Prove that the perpendiculars from the vertices
B and C to their opposite sides are equal.

SECTION - D
Question numbers 29 to 34 carry 4 marks each.

Simplif 26 T o2
1mp1y\/§+\/§ J6 +3 6 ++2°

If a+b+c=9 and ab+bc+ca=40. Find the value of a?+b2+c2.
OR

1

Verify : x3+12+23—3xyz= E(x+y+z) [(x—y)2+ (y—2)%+ (z— x)2].

e L R

(a-b)> + (b-c) + (c—a)

Simplify
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32. In figure 9, Z/BCD= ZADC and ZACB= ZBDA. Prove that AD=BC and LA= /B.

A B
C D

Figure 9

OR

In figure 10, if AB=AC and DB=DC then prove that ZABD= ZACD.

/ A \
B C

Figure 10

33. Infigure 11, AD is a median of AABC and BL and CM are perpendiculars drawn from B and
C respectively on AD and AD produced respectively. Prove that BL=CM.

A
%
B D C

M

Figure 11
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34. In figure 12, D is a point on side BC of AABC such that AD=AC. Show that AB > AD.

A

D
Figure 12
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aMfa 1 H L POR=3x 3R ZQOR=2x+10 I x &I 8 WA f% fe@ POQ Tk Wl W@l §, & :
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3mfd 9 H, LBCD= AADCSﬁ'{AACB /BDA. fag =ifsit f AD=BC da1 L A= /B.

=

-
3
3T 10 ﬁ’, Ifs AB=AC 3R DB=DC @ fag =it f £ ABD= £ ACD.

AN

B
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A
%
B D C

V
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aTpfa 12 #, AABC 1 Y= BC W fag D 3@ T#R § fF AD=AC. fag ®ifSu fF AB > AD.
A
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